) ~ REVISIONS
o | ZONE | LTR DESCRIPTION DATE |[E.M.N.NOJ L.
: ‘ 2 | ORIGINAL RELEASE FOR PRODUCTION 12968 fa
D
@) /BDIA HOLES LOCATED ON 207
DIA CENTER AS SHOWN
5/_ 9"‘ TR R lp__(om___-‘1
DIRECTION OF TILT
- \
11 D '_‘l__ S O ].T—-"\
10%/4 DIA = -~ 3 s —F 3+ =)
L 1
s B s . - 35-0"
{ i C
DRAIN PLUG L #3/8-24 NF-2 THD STUD :
. = HARNESS |
— 2’ O“——--»—--
ANTENNA
CONNECTION
. 6/_ 5}1

HIGH VOLTAGE
LEAD

NOTES
I-MATERIAL : ITEM-
(A) ALUMINUM PLATE 2024-T4 .750 THK, USED FOR ALL
SUPPORT GUSSETS, TOP & BOTTOM & COUPLER MTG&G PLATES.
(B) EXTRUDED ALUMINUM TUBE 6063-TG 10.750 O.D. X 10.020 I. D.
USED FOR TRUNK.

2-TRUNK ., GUSSETS & MTG PLATES TO BE ARC-WELDED TOGETHER
TO MAKE UP ITEM-I,

il Wl BOLT, HEX HD # /2 -13 NC-2
# S5/8&-11 NC-
3- MATERIAL | ITEM- 4 f?. 1 & HEXNUT / - SIE,C%ZPLIT B
(A) BROTTOM PLATE - STRUCTURAL STEEL CHANNEL T Al g LOCKWASHER
7Xx 28 X 2%8 LG. 20| 1o FLATWASHER #5/8
= - - J -
(®) TOP PLATE - STRUCTURAL STEEL CHANNEL s BBLT, HEX HO 5/6-1ING2 X272 LG .‘L‘L}
BX ZMa X10'\G 1 i HEXNUT /&-16 NC-2 3>
i LOCKWASHER #32/8 sSPLIT =
4-EINISH - [TEM= | il B FLATWASHER * /8 O
?A\) B o oo ¢ il A BOLT, HEX HD #3/8-1 NC2 X 2L G WL
B) S114 - ZINC CHROMATE PRIMER > e EXNUT ¥ 374 -10 NC-2
(©) LIGHT GRAY ENAMEL PER FORMULA #lil, CLASS TL 3 e e J
T - 2 B BOLT, HEX HD #35/4-[ONG2 X 9"LG S
-
S-FINISH 1 ITEM-4 ' o LOCKWASHER?ZIB ?I:IP:IICTZ e -
(A CADMIUM PLATE 2 | & BOLT, HEX HD - /8 _ I‘/a
(B) PAINT PER (B &C) ONLY, NOTE-4 . iE BOLT, HEX HD #5/8-11 NC-2 X 12 LG
ik 4 | Q-482-6 FOLD DOWN BASE
G- ALL FASTENERS TO BE STEEL CADMIUM PLATE PER QQ-P-416, : S EwWiEE S TiowATE T
.OOSTHK‘ FOLLOWED BY YELLOW CHROMATE DIP. g = [CU-538/URA 38 | ANTENNA COUPLER
7- APPROX.TOTAL WEIGHT & WEIGHT PER SECTION l‘-| e 4 ANTENNA TRUNK ASSY
B o e S D S !:(D S %% ITEM PART NO. DESCRIPTION ; YMBO
FOLD DOWN BASE [ s
ANTENNA COUPLER y & - SRS - LIST OF MATERIAL |
T UNLESS OTHERWISE SPECIFIED *77}]/' / / THE TECHNICAL MATERIEL CORP.
S g I e v AMARONECK, NEW YoRK
AND INCLUDE CHEMI MECH. DES. , |
i gt gk OR PLATED FINISHES M. ZETENA 2-27-68 A
TOLERANCES ON ELECT. DES. DATE R U M K A 5 S E M BLY
DECIMALS FRACTIONS  [CHECKED DATE ANTENNA T
QTY / UNIT MODEL USED ON ASS'Y NO. xii -g-’; A:Né{gg >¢’@a_, 12/6 /‘1
. » \4
APPLICATION XXX % .005 ST W Rk S |
—_— MATERIAL SIZE |CODE IDENT.NOJDWG NO. ISSUE
NOTICE TO PERSONS RECEIVING THIS DRAWING D 82679 A A I O 3 ﬂ
_ THE TECHNICAL MATERIEL CORPORATION claims proprietary right in the material disclosed hereon. FINISH :
10 manufaciine snytning Show nereon kot perision rom THE TECHNIGAL MATERIEL CORPORATION i
go th :seﬁ'. T:i:ngrawrilﬁgsis Ioaneuri fgr rr:utggl g:sm:ﬂg: a:t’in}s subject to recall at any time. SCALE "/ 2 =] SHEET
FCI-10-170  (10.04) 8

7 5 | 5 4 & L EE 3 \. A e el i

<% B B il - . R -



